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CHEMISTRY
(Skill Enhancement Course )
Answer the Questlons from any one Option.

: OPTION —A ( Analyttcal Clmzcal Biochemistry )

Paper : CHE-SE-4014

" OPTION-B (Green Methods in Chemistry )

‘Paper : CHE -SE-4024

OPTION-C ai Pharmaceutical Chemistry )
Paper : CHE-SE-4034

OPTION-D
(Chemzstry of Cosmetics and Perfumes)

Paper : CHE-SE-4044

OPTION-E (Pesticide Chemistry’ )
- Paper :. CHE-SE-4054.
OPTION-F (Fuel Chemistry)
Paper : CHE-SE-4064
" Full Marks : 50°
Time : Two hours

~

The figures in the margin indicate
Jull marks- for the questions.

Answer either in English or in Assamese.
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-~ OPTION-A
( Analytzcal Clzmcal Bzochemzstry)

Paper : CHE— SE- 4014

. --Answer any four of the follovvlng

(Choose the correct’ answer [ Fill in the
~ blanks) :

."WMWWWW(W%@ﬁ

Wﬁi/*ﬂ%lﬁ"ﬁ‘fﬁﬁt)

(a) In eukaryotes fatty acid break down,
~ occurs inside '

‘VVI\W@@'&W mm@ﬁm@qﬂﬁ"

Q) m1tochondr1a1 matrix.

’fmﬂﬁwwmﬁ—

L (i) - cytosol

m)

—is the simplest amino acid.

: i(c)

.\

- (iv)

mﬁaﬂaﬁm—

(iii) cell. membrane

CPRRIR Rogs T©
endoplasmic reticulum

\

“Wﬁwu‘ﬁa afze |

types of amino acids are
reqmred Jo synthes1ze a; proteln

'3 Sem~4/CBCS) CHE S 11213451 wc, 5

1x4=4

" (9)
?'(h) '
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| "’a’ﬁwﬁ?‘mm-
- ~ﬁm€ﬂ®l
@

@R Gf @fgeR

Pentoses present in DNA and RNA are
_and ____ ‘respectively.

DNAWRNAw%{%@WWﬂ_C"

Wthh one of the followlng 1s a non-
digestible. polysacchande ?

o (FRRE <R G AR RRI T2 2

i) Cellulose . Cb‘«ﬂ?i’@ _ L
(i) Starch OIS
- (i) Inuline = FEW o
(i) Glycogen  2ARFCE
Arachidonic acid has 20 carbon atoms
with ____double bonds.
SR @fiws 205 T Wﬁmw
e A
Numencal changes in chromosomes are
“called
T KGR ﬂmﬂﬁﬁ@ R
ALactose is composed of 4 and
W oy G o
Contd.
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C2.
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" (b)
)

| ';(d) How does

Answer any three of the followmo 2><3 =6

(a) What -are’ called denaturatlon and' :

- coagulation of proteins ?

.aﬁw%mmmmw—aeam canw

D
efine co- -enzymes and co- factorS B

%%sm I I eest ol |

, Wnte two b1oloorlcal roles of DNA.
DNAS 51 toiRes wRf ssigé el |

pH affect on’ enzyme.

acti
VltY")v hat is’ called optimum pH

- range ?

e
- m?@wﬁ‘pHm%mmﬁ@ﬁ |

© pHﬁlmmmW

W
. m:at e blocataIYStS ? Give exau‘ﬂple

e o2 Tl it
at is’ Cal
 Riftreg led rancidity of Lipids ?

BG4

Q’i

3 (Sem-4/CBCS) CHE S 1/2/3/4/5/6/G S

(b) What is biocatalysis? How is it

important in ‘green chemistry ?

o o 2 GTow TS 2R g

(c) Write a note on eharacterization of

polysaccharides.

«W?ﬁﬂm@ eol%— @51 c%m%mn

(d) What are the structural levels of protem\ _
organisation ? Explaln ‘

sﬁaﬂ\ﬂmﬂﬁsﬁasm @%ﬁﬁsﬁw [N

Eall .

(e) What are the chemlcal components of
nucleic acids ? Explam

| ﬁﬁ;@?ﬁaﬁmmﬁmﬁsﬁwm
B [

(N Explaln the mechanist of. lock ‘and
' key theory of enzyme actiomn.

TR wAl-gR TeamI ﬁmﬁrﬁm RURHE
4l -

: Answer any three of the followmg

o ' 10x3=30
St fﬁmm'i%ﬁﬁfm Tet IRAAm ¢
(a) . Write a note on l(reb_’s cycle.

(TR-5TF ST 51 (Bl TRl |

Confd.
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(b)

f - biechemistry of at least one peptldg\'
- | 1+1+2+6=10

What are peptlde hormones ? What are

o)
the main types of peptide hormonezéA ,
~'Give the name of two pepti

hormOneS

Write about the

hormone v

_;,Cﬂ%m’n%, C1B3T R 2l 2

B D R 70 (o°53% e A ol |
;ﬁmz-vr(ﬂﬁrm%m C@amm&u?ﬁ",:n

. (o ) :.What is DNA rephcatlon ? E‘iplam

o g DNA W‘mﬂ 2 yre <=

c f(d)_, 'How are. prote
L '_charactenzed

: ,denaturauon 5

o ﬁ’m

%‘W’EW ‘ons Of hposomes . o

3(Sem 4/CBCS) CHE Sk 1/2/314/316/(} "6

. .: I ~7J‘? a’ﬁﬂ \, A
R

mS lsolated and
What is protein

’m‘ﬁw I taﬁr@—m =
&SIp %9 -

-'fﬁééﬁ'tfb -
EXpla_ln 1t Wh y

o ". . o . ?
genetic code.

at are the propertles Of
-;,geneuc code? -

W\Wmm’ WWWI%?W

hat a

B

6+4=10 - 7|

1 0 ome o
R .blologlcal fun p Somes" erte s :

(9)

™

in blood
factors are there
Hovzurlr;irgr,l process ? Write a brief note
coag

n.
on blood coagulation process in huma

| ..
TG TreS YY) [FAARY FCE AT ¢

‘wmw—maﬁmmwa—wm_

ISR

What are the major components of

. v

n m pal ical/
fro tholog
mal urine h e
lgrl;ormal urine in case of Hepatltls B
a ; .
virus infection in liver

Ta9 ﬁ@%Wﬁ%"WW

froRe (@bt -B ©i% R TR (FI4©

meﬁwmw & 4 enam

ﬁcﬁasféam?

. 316/ S conta
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- OPTION-B -

( Green Methods in Chemzstry)
Paper CHE— SE-4024

_@WWWWWW

- ) It is better to
- “treat ‘or clean
. formed.

up Waste after it is
(Fill in the blank)

“ ﬁ‘%ﬂ@ﬁm%cxmmﬂﬁm

AT O Tt e @E

..|'.;\ : (?flﬁ"?ﬁ‘ﬁfﬂ)
The Pollutlon Prevent1on Act of
was the first initiation in the- U.S.

(i)

(Rill in the blankll'

: ?_{mrg— . ey ORI e /gy
LR R TR
(iii) The full form of CFC is

. | :
- : (T} 5% 9 70)
(). CO, exists as a

‘ . SUpercritical fluid at
31°C and — ___ atm,

CFC% chmia

(Flll m the blank)

3 (Sem-4/CBCS) CHE SEV3506/0 g

- Answer any four questions : 1x4=4

waste than to"

(Fill in the blank) _

(<1 5% 9 ) -

. ‘31°C‘ )15 atm BI*f® CO,

©

(vi)

e G TS A TN 5T 9T

41)
Define atom economy.
G5 FF AR Al o

Name the drug taken by pregnant
women that may cause acute birth

- defect.

(vii)

ﬂﬁﬁrﬂﬁaﬁ%\?ﬂa (R TR TS G |
g:qsf‘ﬁﬁ?fﬁﬁﬁ‘_"@?m9

Catalytlc reagents are superior to

, st01ch10metr1c ‘reagent.

(Select True or False)

w@@ﬂﬁzﬁﬁwﬁﬁmﬂ—wh'-

ot e (Wm@'az—ﬁ‘ﬁwr)_

(viii) For green 'synthesis of adipic acid

D-galactose can be used as the starting

' material.  (Select True or False)

Gfef>F IReY CI%E AT . D-(AS S

el ReRT ol I 1 =9 |

(ST (7 o% {397 1)

3|Se£n-4/CBCS]CHBSE 12/3/4/5/6/G 9 , " Contd.




Y

)

- (d)

A. ) (e) What IS rlght fi

AnSwer aﬁy thre‘e'

, (a) . erte a Chemlcal reaction carried out

~In water ag a solvent.

,wrﬁimmﬂw mmmzrﬁasﬁrﬂf‘ﬂm“ |

ﬁ’i’*’ﬁl

‘What are the goals of green chemistry ?
%S R ﬁma fevar

~ Write two addition reactlons with 100%
atom - economy _

ol I T an) fmmfwﬁf‘ﬂﬁ |

W@q 1)

‘ erte the chemlcal reactions 11’1V01Ved
in green synth

toluene
mﬁ‘a—@ FHCEA
% ﬁ]‘ﬁ" -gnl .

it azo p1gment9
R T Ry

3 ‘Sem-4/CBCS' CHE SE 1/2/ s,

S8 19

2%3=6 -

esm of bénzoic a01d from -

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 11

Write short notes on (any two) :
Ricelcant 7b1a R v et fovar ¢
(i) Bhopal Disaster

RN
(i) Vietnam War (1970).

fSrbaE & (mqo)
(iii) Antlfoulants

GFoT TS L
(iv) Green synthesis of ‘ibuprofen-.
e (T A
(v)  Green solvents for chemical reactions

aﬂmﬁasﬁfémﬁm—wm%ﬁm

(vi) Pressure treated wood

(o BT w1

5x2=10

Answer any thrée questions given below :

oo it e oAt e e v

(@) Write the use of surfactant CO, in the '

10x3=30

field- of dry cleaning.

¥E REIrS qém%m 0,7 Iz Rac
foralr |

Contd.



- (b)

@

| Explain the use of antifoulant in the

field of Wwater transportation.

farr

L4

Use of chromium and arsenic is restricted’

as pr’eservativev for. wood industry.
Discuss about their alternatives.

VIR PR W1 T | <R e B

ARefR By

What are lignins ? Exﬁlain'th'e use of

o hydrogen peroxide for. éatalyzing the

- (¢

_process of. deligriifying.

“of recyclable

. 2+8=10

green - chemistry in case
Carpet,

BRALIGERE.  TRTpE p——

::f'ﬂ%’m S TS 757 Rtz
"‘ ‘mmﬂ%ﬁw| -

3 (Sem-+/CBCS) CHE SE 121314751616 12

@)

()

.~ 3{Sem-4/CBCS| CHE SE1/2/3/4/3/6/G 13

*Write  the .

, advantages and
disadvantages of perchloroethylene
(PERC) used as a solvent for dry
cleaning. Draw ‘the structure of

 polystyrene CO,- copolymer. 8+2=10

o ARGR (FTS TITS T W’a’i‘«’nw
(PERC) AR&1 S SFIRAIAIR o7t | wifereieiz

How can synthetic azo pigments
replace toxic .organic and inorganic
pigments ? v -
FrafEe 9T IGFRIR R Rare tor o

G IGTR T DI 2

Write the pririciples of green chemistry
with suitable examples. = :

G T ToAMIRR B q3rTer B

Contd.




OPTION—C

( Pharmaceuttcal Chemistry)

Paper : CHE-SE-4034

]

e
Answer any four queStIOI‘lS from th

following : . 1x4=4
oS mﬁmaw | Rt Eﬂ’%ﬁ‘rw?@ Sall

(a)

()

- (@

e)

‘What is meant by
medicinal chemj

ST A Rearre s om (e caml)

re
How many numbers of N atomS a

present in v1tam1n By ?

oo B2® R 7{“% N sfie] ACF?

What are NSAIDS?

'_ NSAID e B @
(¢

What is fermentation ?

o aifem (PRGHCESA) & zme

a lead compound in
stry ?

{‘%‘FCFI ﬁf {E‘[?

Define chemotherapeutlc index.
@m’zﬂaﬁ“ﬂﬁq‘: Eglecs: o8 e ﬁml

Wnte the name of two.

enzymes lnvolve.d
in the fermentatlon o

f glucose to citric |
acid. .' :

-3 (Sem-4/éBCSl CHE SE 1/2/3/4/5/6/G 14

qewﬁmﬁiwﬁ‘@mﬁmafw S
.'(W)wmgﬁrﬁamwm-.‘~
fovan

| )v' What is the heterocychc rmg sys;em
@ present in vitamin C?

- fesifim C w@m’m&%ﬁm%w9

(h) What are barblturates ?
IRRBT W. & gaie.

hree uestions :
2.. Answer the followmg any three q estions

: —m@ﬁﬁamwﬁmmﬁﬁmww

of stereoisomers
many numbers s
@ ossible for chloramphenlcofl
%;.fllfh isomer is responsible | ?:r
antibiotic behaviour .? Draw its
structure.

@W @iﬁ BRereSTR e 2
| ! e QA TR o 7
R ?lé)‘ﬂ o | ' |
| t i [ lic ring system
hat is the heterocyc ]
® g'esent in vitamin Blg ? Write the name

of a disease that occurs due to the
deficiency of vitamin Bjs.

5 5 R Contd.
3[Sem.—4[CBCS]CHE551/2/3/4/3/6/0 A].S .




OPTION-C

( Pharmaceutzcal Chemzstry )

_ Paper : CHE-SE-4034

[}

Answer any four questlons from the

following : . 1x4=4
'Tﬁmwﬁmwﬂat ﬁmmwﬁmmw"

(a)

()

- (@

‘What is meant by
| medicinal Chemlstry )

8T T Reare wq czT'm (Fre )

How many numbers of N atoms arée -
~ present in vitamin By ?

- FBRA B, R s N sy anzzﬁ? |

What are NSAIDs ?

o NSAID{%{@]%W;, |
(@

 What is fermentation ?

ﬁmﬁ%m(‘@ﬁmm)w@?'

a lead cornpound in

I R gty

Define chemotherapeutlc mdeX
@w’cwﬁl%qs FEI ewal frat1

Wnte the name of two enzymes involved
in the fermenta

tion of glucose to citricC
acid.

-3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/c 14

q’amﬁmmmww -
-(W)wmﬁr%@mmm,
e

.»(g) " What is the heterocychc r1ng sys$em
present in vitamin C?

- f5ifm C W@R’Gﬁ@?ﬁﬁ\ﬁ%ﬂ‘*

(h) What are barb1t:urates ?
TRRBT qlam s @i

2. Answer the followmg any three questions::

. 2x3=6
- -—cﬁ zrﬁﬁﬂaﬁ 2 732351231 7 735735?@3 ?NT '

| ) How many numbers of stereoisomers

@ are pos31ble for chloramphenicol ?
Which isomer is responsible for
antibiotic behaviour ? Draw its-
structure

FACETS @ (BRSO S 7
P SRR @ﬁamﬁas IR 2[ W
3R siow Sl | ' |

(b) What is the heterocyclic ring system
present in vitamin B2 ? Write the name

"of a disease that occurs due to the
deficiency of vitamin Bjj.

3 (Sem-4/CBCS) CHE SE 1/2/3/4/3/6/G 15 ~ Contd.




- RO By, © o RRBRE R W
- fEOIf B 3 woikm TR [ (@99 29 A

(¢ Name the prodrug of dopamine ? Why

- cannot dopamine be administered
directly? - '

TR Wi 8Ty (ﬁ@ﬂj‘%}a? ToIET a

o (d) Define ‘agonist and

. : \ antagonist drugs.
Give examiples. STE ®7

9T

izl .
() What are me; S ..

_‘sedativaeus.‘e? »méént _'by hypnotlcs and
b e oo i e g ¢

and structuri? of an analgesic drug.
S W B e GaE
mmﬂiﬁﬁwwﬁzﬂr | .

Answer an

following : 'y»two.quesﬁlér'ls from fhe‘ '
(a) - What is le »

5X2= 10
t is leprosy? Which bacterial
Species 1s responsible for lepros;lg &/rite

the n
anti-leam'e' and structure of an

-leprosy drug and propose 2
synthesis for it. P 1'Iil+3=5

3 (Sem-4/CBCS) CHE SE 1/203145/6/6 16

By \éﬁﬁmﬂvﬁ'{eﬂ?%‘m‘f C

o

.What are analgesics ? Write the name E

e &= @A @ERT At Fere

(b)

©

@

Sfos 12 A ? 9ol «fS-et] S34R AW S

S oES el AR FA

What are sulfa -drugs? Draw the

‘structure of sulfacetamide. Under what

medical condition it is being used?

. Write-the name of two bacterial species
~ against which it is active. :

1+1+1+2=5

e gl 3T T8 3= 7 ST EIEGS o

o 1| & DR 2 X TR
'mmaﬁﬁmﬂmim . o

Write the structure of ibuprofen. How
many numbers of stereoisomers are
possible for ibuprofen and which isomer
is therapeutically active ? Mention two
advantages of ibuprofen over aspirin.

1+42+2=5

SRR N RS | AR TR

FrEl (RRSPSIEPIR AT S (D!

B Pl TRe fwire Afra: wpisiTeE

G TR 7 At foran

Draw the structure of L-Glutamic
acid. How is it being synthesized by-
fermentation . process? 1+4=5

1 (Sem+/CBCS) CHE.SE 1127345066 17 - Contd.




'. () - Write the sty

.'_.;&i;;- -
- TS f5eq 1S e e v | -

=, ?UT?U]’ ki

: (e) - What is meah

: t by vitamin C leaching P

- Name two dieta

Iy sources of vitamin C.

v I' 1'1':6 the nam
common]
L-ascorbi

€ of two bacterial strains
¥ used for synthesizing

- 2+1+42=5

e A
ac1d through fermentation. -

SRR © e e = Wiz B C T 7ol

W’o;atﬁ%gmmﬁmﬁm ~
AR @fR® g of

(CIRAR A oy

* (SAR) of tructure activity relationship
v o Penicillin analogues

Reca By .0 }g&ml?ﬁﬂ@gl

Answer an R | : |

¢ . v o

follo,wing; y h_ree' Questions from the

10x3=30

‘(a) ()  What is the o

Tea &l 8

o

foo wmme 751 A

4 g
P
N I

| offerzEE gl 9awE feTe 4w

TR TR, IR A {37 | (IR O

| o 3 e 7 QRO 2 DR

@

ﬂﬁlﬁ?ﬁlA" S

What is a cardiovascular agent?
Write briefly about the medical
condition in which glyceryl

" trinitrate is' used. Propose a

| (i)

() )

3 (Sem-+4/CBCS) CHE SE-1/2/3/4/5/6/G 19

method for the synthesis of
glyceryl trinitrate. 1+2+2=5
PGSO SRS (4T 2
ARt T T foran faeiza

BIEIECED RS A <5
\H'ow does pafécetamol,dccreasé :
the body temperature ? ‘ 2

o o TRew1 R 2

In the industrial pi‘eparation of ,‘

~ ethanol by fermentation —

frEn 1afoT Al AW SeTieiE -
2GfeFITS — P
A) What is the starting niatérial '
and what percentage of sugar

does it contain ? 2

‘ Contd. A




[T T

B

o e A

Narne two microorganisms

. that can carry out the

Q)

D)

, ferrnentatlon 1

R AFq i R 980
Ol TSR A B

"r . ) )
What are the nutrient

| .substances added ? ' 1

f & AT o1 TN W

range for the process.? 1

What is the optimum'
temperature for this

N proceSS ? ) 1

om

1%‘-‘117{9

9% o aﬁmmmf‘t

Why is addltlon of oxyo‘en

ne
. _processary although the
, cess is anaerobic ? 1

USRI rgafi @R ATHE
W T STH zw zxmrﬁzr
3 (Sem-4; CBCa, CHE SE. 1/213'+/of6/e 20

K1)
- Tji:l’mm am@—,ﬁm pH AR

L o®

()

(@)

(ll)

erte the name of four food
sources of vitamin Ba. What is the
a11phat1c side chain present in.
vitamin B2? ' 2+1=3

B B, BIRGI A SR i fevi |

B .%Bgrwamﬁwcﬁﬂ

@A

o

What are benzodiazepines ? What-
is the trade name of the drug
Diazepam ? In what’ medical
condition this drug is being used ? -
Propose a “synthetic pathway for .
drug Diazepam. 1+1+2+4=8"

e e @i

| g e T e & (e

W a3 "Qf‘iﬁ*l Ak ?@9,'

i)

TiRAfEARR 51 FCERA S Wl

What are the essentlal reqmrements ’
for a compound to be an antibiotic ?-
-2

G5t «ﬂﬁ?m’%as = W\o"m

(i)

eareREerTE & e

What is meant by retrosynthesis?
How will it help to design a
synthetlc route for a- particular
compound ? Explain by considering
any drug molecule. 1+4 S

- 3 (Sem-4/CBCS) CHE SE 1/2/3j4/5/6/6 21 . Contd.’




@ @ Provide two exapy

| L Ry IR & Tl ? ﬂ‘w csz

T e 3 v v ¢
ﬁzmqﬁr:m 01 1y =41 | |

i W 1 .
() Write briefly aboyt the development

of barbiturates. : S

TOORGI Rz Ry B o
v : ples of g-
Iac‘:tam:,a}nt;biotics with o
- z_(i;ructure. Why are these
- cOmpounds nameq such? 2+1=3

TR -G oo e

() Draw the strueq..

. OBRES Rer :
AR ereroirg Wz@ﬁj;ni; |

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 2

' i) What are aminioglycoside anti-
’ biotics ? '‘Give one example.
Mention two-advetse effects of this
category of antibiotics. 1+1+2=4
GF 2z 51Re FSarics e [ e
by Twimd - Tt | 9% g oo
ReTes 707 ettt i fora o
(f) ‘Let us- con}side’f‘ thé. commercial
- production of -penicillin in a fed-batch
reactor by fermentation. . =~
R =Rbhw IfitreR o =l
) Which are the two main spécies
 used for fermentation? . 2
IR
: (ii) Which between those two is used
mainly and why? o 2
| GR AMEDR (PR (RS I
‘. - (iii) What is the source of carbon? 1
TS I TeA [ |
?

(iv). What is the source of nitrogén
' ' o 1
Tle WZGHAR B e 2

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/0 23 o Contd.




_ (iij) Starting from D-mannitol as the

(v) 'Wh.at pH r’ange. should be .
-+ 7 Maintained ? ’ ' 1 easily available source for the
.. pHT sifisig R ' construction of the ‘sugar
- P _ S q9 Fﬂm? - nucleus, describe how
(vz)‘ What' chemica] compounds are azidothymidine can be ,
used as precursors for production 'synthesized. - 6
?}f. ‘pegll‘*‘l.“m V- and penicillin G ? fo-cifibeie w1 rzeere; o7 Rice)

- GIve their structyres, ' 2 e o e
R e T - IR A HRRRR Qs e
IO VR iR g eres . : - |
AT S R o : LA o

(TR I sml JREE , S .
]? 1297 sy RS foyay | (h) () What are - sulphonamides ?
(vii) Whi h chy : v - Mention two uses of it. Describe a
s ulc ‘d¢ fomatographic technique ' method of - synthesis of it
of | ze. Fﬁm.gmtor'the production considering aniline as starting -
p I:ICI in 7 | 1 - material. Give one adverse effect
iR UES 2T wgrr Pl of using sulphonamides. -~ .. .
IS m@mﬂﬁwmw L . 1+2+4+1=8 |
. ™ N" R | WA VIMCEN 22 20 757 e
U : What is retrovirus ? Giye example. - T [0 R o Rlapagtyiew
'@% - : 2. ([T ATS I 77 9 REEIC iy b
g Ny 11 gy ourRRe fr JIYW 901 ST &7 By
(i)  Write the structure of . . o ) o _

' azlifi%thymidine and mention to (ii) What is Co-trimoxazole ? 2
whic] Cl o 3 » . — .
belongs. aSS Of antl—HIV. agepts 12t .CO-‘BT@ S i‘alcal %igﬂ" °

| SRR s TSB! forar |
- TRR R @B TG,
TSm0 T
3 (Sem-+/CBCS) CHE SE ”2/3"‘,”.5/679 24 B 3 Sem-4/CBCS) CHE ¢ 24344/5/6/6 2_5  -

C_or‘.tfd. '




OPTION—D

{ Chemtstry of Cosmetics and Perfumes )
Paper : CHE- SE -4044

. Answer any four_qgestlons from below :

(i)  Write the basic purpose of us1ng
face powder :

, :BI— wﬁsm ama Sl ga WU 1%9

(@) Why is preservatlve necessary 1n
shampoo? -

@TW@"T%WWQWQ

(iii) Is hair spray related w1th halr loss?

‘(i.v) Name the essential 011 used in eold‘

. and cough remedy:

(v} State the statement Tru

.G&—»rmwstmﬁq%mo

Geraniol is a monoterpen01d

cefEE @R bR

3 (Sem-4/CBCSI CHE SE 1/2/3/415/6/G6. 26 -

¢ or False :

(vt) Why is 2- phenyl ethyl alcohol used in
perfumery.

zﬁ—m@ﬁ@?uﬂwﬁw&ﬁ*m—w

@'?

(vu) Name the v1tam1n Wthh is related with
good hair growth:

Ww%mwmmf‘—mﬁm
AW B 3 2 |

(uzu} Mentlon the pl'ant part from which
jasmine oil is extracted.

WWW@HW”‘HWW‘TW@
@zm@n

Answer any three questlons from below
2x3=6
T"’Cﬁﬂwm ficrzt fofabre T ol 3
(1) erte two 31de effects of halr dye. .
W%WW 7o R T Trmd /A

(i) Write two main constltuents of a good

~+  shampoo.

, aﬁaﬁamﬁwﬁwmdmn

(iii) Name one natural source of geraniol
011 and mention its one use. = .
- (TAifwE coE @b mﬁ@sﬂamﬁw s
TR AR 5] SR |
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( y) Mention two main types of face powder.

v

gﬁa ﬁmaﬂ—mwﬁm«%mﬂwn

.erte two natural sourc‘:es of

2- phenyl ethyl alcohol.
2-Feize TalE am-ra 75 W@m

- TR 4|

i)

" —c\—ﬁmﬁﬁmﬁmm S Bl 8

()

Wfite two primary ingredients of
hpstlck ‘

W@?fa @ ei<m @orrm ﬁann

. Answer any two questlons from the
following :

0X2 10

Defme cold cream and vamsh1n°
cream. Why is cold cream used. during
winter season and how does it work on

human skin ? | 24(1+2)=5
T o w (oR v o/ @i B 78
@“WWWHWWWW

‘j'.eﬂa—qmﬂ«t“immv -

{b)

3 Sex4/CBCS) CHE SE V23166 28

~ its main use? Write its one basic
mgred1ent Wnte its two. side effects.

2+1+2=5

What: are antlperspn'ants and What is

()

@

| (e).

mﬁ?'vna%r@%ﬂmw—n@m*mzﬁw

| RRA F@? A R B SRR B

R o A S )

Write chemical composition of talcum
powder. Why and how does it help -
‘human being? ’

mmwﬁ"mammﬁ?w\q%mum.

7 O% @FEE T T T F

‘How does lipstick work on human

skin ? Mention four genuine reasons,

f how long-term use of lipstick may

harm human beings. . 1+4=5

~ 'r-:sma—ﬁfmmﬁmmmw |
| AMA s RN WS wwm?%avn@
R Ffes mfeEr FiRa TrEd + |

What is muscone ? Mention its natural

" source. Write its physical property. How

do human bemgs collect it from natural

. _source and use. 1t'>

' 2+1+2 =3
‘ fqga,—,[ﬁs 9‘7]121‘3@“!_%"\‘3@{"76?4'%?‘?“@@ .
S ol frdl | W 20 2RSS G
'Wmcimmmzmoj_ |

.3 18eim - mBCm Chr, E 1), 3,"3,6/0 29 ) - Contd.




Which State of India has highest

sandalwood o0il? Mention four
‘important .factors ‘on which good
comp031t10n of sandalwood oil depends.

1+4=5
—WMWW‘:W &R SR
(o Besm 27 o«tei—wamamw
ﬁﬁfﬁﬁWW%ﬂWl

"Answer any three questlons from the

following :’ - : 10x3=30
—a—ﬁmwﬁ— ﬁmmﬁﬁf‘ra T 1 3

- (a) () Define essential oil. Mention the

3 (Sem -4/

- basic technique of extracting
essential oil from nature. Méntion
the special solvent which is used

during extraction. -1+2+1=4

Wﬁnmm@m—%mmw“

| R o S T T

%cazrwm—«fmcﬁmwﬁmf—

- G 9O T I
. (i) Mention how" human bemcs use

the followmg essential . o1ls for
their purpose :

(1) Civetone, and (2) Eucalyptus oil.

.Ww\vﬂ‘mmﬂ{qﬁww
(T IR I Ty

(1) BE6=, @k (2) St coml

/CBCS) CHE SE 1/2/3/4/5/6/G 30

2+2= 4,-

(uz) erte two basic ways by which

® @

(i)

human belnos use essential oil.
2.

Wwﬁzx ﬁwwmw |
&ract%tmwn .

Mentlon three methods by - VVthh‘

rose oil can be extracted. Which -
- type of rose is mostly used for oil

extraction ? In what different ways
rose oil may be used ? Mention one
chemical compound generally used
alternative of rose oil.

3+1+2+1=7

mﬁ‘m (T T & folabr oo
TrEd 9 | (FAEERR MY @] (Se
TR AR ToATE? (AT (o & [
AFIE A SR AR 2 (G (o) T
AR A ammﬁaf mﬂﬁ?ﬁ 1w T

Bl

What the'is the purpose'of usmg
shaving cream ? Mention two
alternative compounds of shaving
cream. : 1+2=3

.csf‘—\f—wmw@m%?csﬁ
,@mwwﬁamﬁa R

WWWI

3 (Sem-3yCBCY CHE SE L3580 31 - o Contdi




L @

3 (Sem-+CBC

FEERC

0

Write - four. chemical compounds
~present in c!rood / be‘st face powder.

4

T FH‘W*»{@WW sIR
- ITRES (TR N S

@

What is “the - best sources of 4

, eugenol oil in nature? What

(iti)

(i)

~Why “is u81nd'

: method  in- adopted for its
extraction ? How men use it?

C1+1+2=4
5@‘5“5‘ oo "@ AT B & 1 |
WS AR AR %f»{m/vm% EirEAEt
2 TR R (@ IR FE?

Write the names of .two good -

‘thickeners used in a Crood

shampoo. . 1+1=2

©iF (TE Y DR TS
mﬂawfﬁml ' o om

necessary ? How ‘is - hair spray
‘related with health of hair ? Write

" three differences between hair
- spray and hair dye,

@?Mwwm@m%e

W«CR’WMWWW

rﬁf’rvnmﬁmm

S CHE SE 1/2/3,"415/6/(1 32

hair spray.

1+1+3=5

' (u) erte about the therapeutlc use
of -different essential oils. 5.

Rifen SIS W{@f@%&ﬂtw
e <R e

(¢) () What is nail enamel? Write ﬁve
- basic chemical compounds present’ *
in nail enamel. 1+5=6 |

Y G 5 2 Y GACTETS A 0T

TG (o A |

(ii) Mention two methods by which
’ analy31s of essentlal oil is done.
1+1=2
SRR mﬁm@w 751 it o

(iii) Write the basic difference between
hair removing cream and .shaving
cream. .2

.mﬁqf@\@ﬂwcsﬁf‘—mzﬁmﬂ
onsﬁﬂfmnl

() Write in short ‘about the following :
S+5= 10
. wore faaml e eiTS EW foral ¢
(i) Cosmetic safety
o i
(ii) Purpose of using fragrance '
-matenals
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(g)

()

Chem1cally What is a na11 polish

‘remover ? Mention five basic chemical |

componénts present in nail polish

remover. Why do people use nail
polish ? Wr1te two 31de effects of nail

pohsh usmo : 1+5+242=10

'Wﬂﬂ%ﬁwﬁymm

' -Wiicm;@mw ;ﬁg T IR e Sy
IR %Wmeﬁm'
R W@m&lw| |

| What is suntan 10t10n'> Place four

strong opinions regardin
g the
suntan compounds by human tislflczf
2+(2><4) 10
BT Ff"iﬂ 1 W FYI AR G
C?TIW RARES ﬁm 677% RE TorTs g |

3 iSem--l/CBCS.’ CHE SE 1/2/3/4/5/6/G 34
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| OPTION-E |
( Pesticide Chemistry)
~ Paper : CHE— SE-4054

1. Answer any four of the followmg questlons 4

1x4=4
| '_cﬁm ﬁmwﬁm %mﬁmo

Choose the correct one :

a5 Gewdl AR TG $

() Which of the following is not an

organochlorine pesticide ?

TR (FIRCE! Corp e SO R 2
(A) Malathione  CRETIRIEH
) ppT - . RRH
(C). Aldrin - <@

(D) Endosulphan Q&

(i) The chemical used in ‘Na‘tionél Malaria

Eradication Programme’ is

A creRE el wfers s W
TRy T |

(A) BHC ﬁ.a’?z.f%

(B) DDT fCATAT

(c 2,4D 2,4

(D) Pyrethroid 2{[BIATC

Contd.




(iii) Natural 1nsect1c:1de obtamed from neem |

()

3iSem-+

(4)

leave

s is

mmwwqwmwﬁa

@z

,Az‘aari'ra'c‘htin. E

(B

(€

N1cot1ne

et

Lawsone

- S7e

e

Ecdysone
aﬂﬁ"@ﬁiﬁ’?

Identify the weedlclde among the
following :

OO
W °©
@
B
©

(D)

PR SR o[ w—cmmw mw

2,4-D"
2,4
Parathior_i
(oA
Chloranil
AR
Sporein -

o -4(BCSI CHE SE 1123(35i6/G 38

w The pesticide ‘used in foundation of
buildings for preventlng termite attack

)

is

ﬁmmﬂmmwm
C‘F‘\s oS [ ﬁﬁn’fﬁfﬁa [e167

(A)
(B)
©)

o)

Gammaxene
(oI

DDT

Aldrin
‘ﬂc'iigﬁ
Endrin

@

Ratenone is a/an
T TF a9y

@)

(B)

(D)

insect hormone

o wWq

natural insecticide

- Agfes FHAE
() -

bioherbicide

weedicide

oG
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(vu) Alachor is an

s ey
(A) " ‘organophosphate pestlclde o
TR HBA
_ (B) .anilide pestlclde o
U oo S
C) organochlorlne pesticide
o Rl FoR
| (D) ‘None of the above
_\fs?ﬁ? «ore T

(viii) Cafbofurén is used as
RTINS

(A) an agncultural pestlclde'

| éna&s FRere a?mma fBswst
B). a Afrult ripening agent v
T SR T ol
(C) a food preservati\}e
A FRTFS oIt

_ (D) a mmstunzmg agent

Wmiﬁmq

3 (Sem-4/CBCS CHE SE 1/2/3143/6/6 38

2. Give very short answers of the following :
(any three) - 2x3=6

ATW%H‘{Wﬂ@@ﬁmz (Riepiz fofazr)

(i) that do you mean by herbicides ? G1ve 4
one example ’ :

pmw—ﬁ%quﬁv 5. wqﬁmu :

" (i) Name two organo.chlorme pestl.c1des. C
g v R AN GTPR A B
A(iii)'b What are rodenticides? Give an‘ |
example of commonly used rodenticide.
FESATAE (@I 2 ARSI IS Ry
TR S T |

(iv) Can ‘algaecide be considered ‘as a
- pesticide ? Which algaecide is-used to
~ control algal blooming in ponds, lakes

etc?

maﬁmsma‘ﬁmr%fism sf«wﬁmﬁm |
R IR %3 SIS FYREICS TR
ﬁ’iﬁ'ﬁ! g TS R T/

(v) What is the full form of DDT ? In which
" class of pesticide it belongs to?

%%ﬁamcf@%ﬁw?@mmﬂaﬁﬂm
vrm%ﬂs#'
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(i) What is "the mode of actlon of .
rodentlcldes ? Answer briefly.

m&%m%mmem?mﬁw ‘

3 Explam brleﬂy any two of the followmo :
- 5x2=10

- fcsre ﬁmm 7o1q ﬁzm s@zr foral ¢
(@) Use of Gammaxene as a pest101de
IR IO BTl TR
(b) Organophosphate pest1c1des-
.4 (c) "Methods of pestlclde residue analysis
Fioaere SR RKogw =@l
(d) Synthesis of organophOsphate pesticides
| SR TR RS |
) (.e')'i Agricultural pesticides

qvﬁ%ﬂﬁﬁw

4. Answer the followmg questions : (any three)

10x3=30

| oeR TR O = 3 (R fofty)
(a) D.eﬁne pesticides. Dls,cuss in detéil
different classes of pesticides by giving

example of each class and the1r mode

of act1on

3 (Sem-4/CBCS) CHE SE 1/2/3/4/3/6/G- 40 -

e s R | FR T R
TR o2 e TFRIRE A SR
- TTe RATeIE SCsA 9 :

" such pesticides. Write the“aipplications

pesticides. How can these pest101des
-affect human health ?

o el SIoAER 2 (ot ﬁza/mf 5’%&

Fioars PR i o1l | ITTSIR TS
IR (o Rl SN el T
R | B AT m@mmmw
wHOAE FE? :

(0 What do you mean by pestlclde
residue ? Discuss its impact on human
health. Describe. various methods of

~ pesticide residue analy31s

WW@%@%{WW@VW'

o FAE Al - T | FoANS SR
ﬁmwﬁﬁmﬁmwﬁm|

(d) What is chloranil? In whxch category

of pesticide it belongs. to ? Write its
- molecular structure. Discuss about its

“synthesis, uses and harmful effects in .

detail. -
as?araf%a ﬁwi@mmﬁaa‘ﬁmrmwsf@?

(b) What are organochlorine pesticides ?-
' Give chemical structure of any two

 of some commonly used organochlorine .

SR SR g R | B oS, TR A, |

ﬁmﬂﬁ%ﬁaﬁwﬁﬁﬂwﬂwwl
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o)

Explam 1n deta11 the benefits and
adverse: effects of dlfferent klnds of
‘pesticides.

‘ﬁ%ﬂ%‘ﬁmmmw—mﬁwm
- A w3y wife <

-'leferentlate ‘between natural and
synthetic pestlc1des Explain with

- examples. Write about their advantages

and disadvantages in detail. . |
AT oI RS FoarR MEI I

rmWWWMIﬁT?ﬁﬁ%
uaﬁmﬁmﬁ&z—m%ﬂn L
@

'-.—aaﬁmm@?ﬁmsam%ﬂw

Write “short notes- of ‘the followmg :
(any two)

@ ppr  RfB

(i) Malathion - N

S _:,(iil) Chloranil - R

- (iv) Alachor o IR
()

examples ‘Why are they used for?

- Discuss.about ‘their toxic effects. How

. can we analyze carbamate pesticides ?

SR ooz 2 Snpmel T @R

e R TR T W RBER R

WWWW&W&W@.

Wmmﬁmwﬁa onzéw

e 41CBCS) CHE SEmzs/ 09 o4z

V'What ‘are carbamate pest101des’> Give

- OPTION-F
( Fuel Chemistry)
Paper : CHE-SE-4064

1. Answer any four of the followmg questlons
- 1x4=4
TS ﬁm Rcwreat oifa5 ors @w fm:
(a) . What is the formulaof producer gas?
2fEBeR (R SRS ARG e
(b) -What is flash and ﬁre pomt of -
lubricant? -~

aﬁﬁmw@wﬁzﬁw

(c) What do you ‘mean by power alcohol 'PV S

SRR T qﬁm 53 @i
(&)‘ Define octane number
S| ﬂalm 71‘ ﬁ*l‘iﬂl |
(e) Give two examples of antlknocklnc T
e agents ' : :

- «m’%:w\ am‘s W W‘T ﬁmn
" Deﬁne calorlﬁc value of a fuel e
_’ -3 EsTid @ﬂﬁfﬁ%c—qaazﬁﬁn L o
@ vDeﬁne pltCh : |
R C W\@T Imn
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-3 (Sem-1/

) "Give two examples of gaseo'us fuel.

cﬂ@ﬂiﬂmzﬁwqﬁm

Answer any three of the followmg _
quéstions :- ‘ 2x3=6

(@)

b)
o W cmhsﬁmiv
©

| ‘“@'&C@ﬁi mmﬂrﬁs@mwﬁml
()

(e)

" e Tl izt oAt o B fat ¢

What are renewable and non- renewable

“energy resources ? G1ve one example of
each.

ﬁmmmmﬁmmﬂmﬁaeaw' -

o2 ereRe GOIF TR o

How is coal tar formed ?

Write. the - drfferences between thermal ‘

and catalytlc cracking ?

Mentlon two routes for the manufacture

of 1soprene petrochemical. .

wﬁsﬁacv{ﬁmﬂ@wﬁﬁﬂmﬂmﬂazﬁf

WW%W\

What is the difference between base 011
and additives ? .

qammmﬁmﬁronerwﬁm -

CBCS) CHE SE1/2/3/4/5/6/C 44

() Define ultimate analysis of coal.

| Wﬁmﬁmﬁﬁ‘a‘zﬁ'ﬁ ™ %mn

3. Answer any two of the followmg quest1ons
‘ - 5x2510

Tﬁmﬁmmm amahﬁm

(a) How are fuels classified ? Why are fossil

fuels regarded as the most important }

source of energy today ? .

.W@mcqﬁﬁ@wwmmmﬁ

ﬁmmﬁm\svvffrﬁ@aﬁsﬂfiﬂm QG| S

9 T2

(b) What is coal? Discuss brleﬂy about
the compositions ‘and types of coal.

: 2+3=5
wﬁvwmmﬁﬁnwmﬁ—j
5N I

(c) Write short notes on the,followmg
- 243=5
12 cﬁm %ran
gU Coal gas
- TS (R
(i) Water gas -
Tl (1]

'3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/C 45 Contd. .
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(d) Class1fy petroleum accordlng to the

~qu-estioﬁs': ' . 10%x3=30 -

types of hydrocarbon
ﬁm AP YLETRR e fefe asﬁ

vrgl%rﬂms Cﬂﬁlﬁﬁw =0

(o) What is hydrogenation cracking’"’ What
' ~are the catalysts used for catalytic -

" hydrogenation ,process? .. 2+43=5

R grEEey (@ e wmEsdEm

mw%%mwwm9

i, Write shortly on aromatic
. petrochemicals.

T c@fﬁwméﬁa @WBWT?WH

Answer dny three of the “fbllowing

(a) Clas31fv petrochemlcals W1th their

3 (Sem-+

: comp051t10ns Describe the method of
4preparat10n of ‘propylene oxide by
chlorohydrin process. 5+5=10

ot eos fofe IR (ERmITETS NS
mﬁ‘rﬁ@wwmmmwmﬁ%ﬂ [

| WW@Z®W|

JCBCS| CHE SE 12131415161 a6

A

ok
o &

(b)

3en- 4/cecsn CHE SE 1/2/3/4/o/6'0 47

Describe the general "preperties of
lubricants in-brief. How .are lubricants
classified? =~ - 743=10

_'q@mﬁamaﬁqWWWIq@@%@w
Roim (uTikeee 3 = WE 90

What'Ls bl.omass?» Br1ef_ly discuss

- different types of biomass:  4+6=10"

mmﬁﬁsvﬁﬁwwmeﬂ—m_ |
snrrsalasan o :

d) .(z) Calculate presence of .percentage

of C, H, Nand S from the following
observations for a sample of coal :
2.1g of coal is burnt in a
combustion tube. The increase in
weight of anhydrous CaCly is.
0.53 g and increase in weloht of
KOH tube is 5. 73g.

. C, H, NS sw?{f?gr—«fmvrﬁm
o SRR o Rl 8 o
2. 1gwaﬁmﬁﬁ—mwi’mw
CaCl,-3 3fé 3 7’7 0.53g I KOH
TR Affe o1 TA 5.73g! |

(i) Write the p031t1ve aspects of_
nuclear energy. . 5,

e e Wﬁ*mﬁ“«’ﬂl o
' ’ “Gontd,



(e)“ What is biodiesel? How is biodiesel
. produced ?° Discuss. Write the
_ advantages of biodiesel. 3+3+4=10
. R 57 T @G Uwe I T
SIS 31 | 1 R AR R |
() What 1s fractional distillation ? Discuss
briefly . the principle of fractional
distillation, Explain the process of
fractional distillation. . 2+3+5=10
| S sifew 3 2 TR 6 TGER bIC SNEEH
| SR Ao TS gt |
() ‘~How is viscosity of lubricant
' measured ? Discuss the importance
of animal oil and vegetable oils.
. .. 5+5=10.
AR (o1 ATl (TR [T 740 22
oAeCer oI BIETErs (67 RACH Wietionl T 1

(h) Mention the effect of p‘fessﬁre and
. temperature on carbonization of coal
tar. Write the negative impacts of
burning fossil fuels. - 5+5=10.
B0 G IES SR Teoly ool BE
7| G TH T T TS QR AN
eroe Raw vt
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